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Test 8
You have 50 minutes to complete this test.
You have 50 questions to complete within the given time.
\
g Circle the letter above or alongside the correct answer.
@ What is this number in words?
7007
Fok A seven thousand and seventy )
B seven thousand, seven hundred
C seven thousand and seven
D seventy thousand and seven
L E seven hundred and seventy )
@ Rearrange these digits to make the largest number possible.
573927
(A B c D E )
L 977532 975732 235779 977 352 997 353 J
@ How many ten-pence coins have the same value as 80 two-pence coins?
(% 2 B c 4 D E )
L 160 90 20 16 2 |
@ A triangle has a base of 10cm and a height of 7cm.
A shape is formed by placing identical versions of the triangle side by side.
The area of the new shape is 210cm?,
How many triangles are used to form the new shape?
[ A B c D 3
s 4 10 15 30
.
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m following train tim
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pirmingham s TI 0753
mﬁl | et 0705 0735 0805
" Nuneaton prae 0722 0751 0822
m = 0729 0758 0829
Leicester 0717 0748 0817 0848
j:;:the 07:23 train from Birmingham to Hinckleg.
::w long does Jamie’s journey take?
A B C D E j
28 minutes 35 minutes 36 minutes 42 minutes 45 minutes J

(8,110)
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@ oordinates of three of the corners of g rectangle have been plotted on the grid below.
The ¢

le?
What are the coordinates of the fourth corner of the rectang

[ a

C

D

L 8, 10)

(6, 4)

(7. 9)

@1

(10,8 |
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@ How many more factors does the number 36 have than the num

S B : . :
Jenny thinks of a decimal number and multiplies it by 4
The answer is a whole number.
2
Which of the following could be the number that Jenny thought of
[ A B C D E
e o 335 3-85 42 37
@ This pictogram shows the hourly wage for different jobs.
Averoge hourly wage
Orthodontist é é é é é é (£ é é
* & & & & 4
Lowjer 86060606
é » ® & & & & &
Podiatrist (Y EYEYE a6
> & & & 4
Actuary VEYEYEYEY l
Cashier é
Each & = £10
Each ¢ =£5
Roy is a lawyer.
He works from 9:00 a.m. to 5:30 p.m. for five days a week.
How much money does Roy earn each week?
(18 oA B c D E
L ctes7 £275 £2337-50 £55 £2800




(erag;‘ter temperature of a lake is 25%
higher than the average for the %

The gverage water temperature of the lake is 30°C,

What Was the average water temperature of the lake for th
€ previous year?

A B C
D
30°C 24°C 36°C E 1)

h of these fractions is the smallest?

@ Whic
B
C
D
1 2 1 = j
8 10 5 o 4
20 2% J

@ George faces north.
He makes a quarter turn in a clockwise direction and then turns 135° in an anticlockwi
ise

direction.

in which direction does George now face?

F A B c D E |
J

L north-east south-west north-west west south-east

@ The radius of Circle A is 3 times greater than the radius of Circle B.

(B

Circle A Circle B

How many times greater is the radius of Circle A than the diameter of Circle B?

LA B C D Ej

L 1 times 1-;— times 2 times 2—12— times
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What is the area of this rectangle?

St
@ A farmer feeds each pig on her farm D apples and

8.5cm
2.8cm
( A B
5 238 cm? 246 cm?

She has 3 dozen pigs on her farm.

Which of the following expressions shows how man

her pigs in total each week?

C
2518 cm’

D

169 cm?

194 cm?

urnips per day.

y apples and turnips the farmer feeds to

o A 36+7+S+D j
B 36 x (S+ D)
(& 36x7x85xD
D 252D + 2528
L E 3242 % TbSxD —_—
Which of these calculations has the lowest value?
e 38+ 18 + 14 x 2 x
B 3% 7 24519
C 43 -8+ 32+ 80
D 12x10-5+90
L E 32-8-6x5 s

Cube A has a side length of 2cm.
Cube B has a side length of 4cm.

What is the percentage increase in volume of Cube B compared to Cube A?

f

A

C

D

E

L

8%

64%

200%

800%

6400%

K2




malue is the arrow pointing to on
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400 people took part in a survey.
30% of those who took part were female and the rest were male.

40% of the males who took part were 25 years old or younger.

How many males older than 25 took part in the survey?

A B C = - W
120 168 280 300 112 j
The largest of 5 consecutive even numbers is 18
What is the sum of the 5 numbers?
[ w0 28 7 < "
@ Which of these is a reflex angle?
= B c D )
L 200 89° 135° 145° 200 |
@ The cost of a coach ticket is £4-40 for an adult and £2:30 for a child.
Mr Jones buys tickets for himself, his wife and his 4 children.
How much does he spend in total?
[ a B c D E |
L £920 £670 £18:00 £13-60 580

_

k

( Questions continue on the next ;p-eg%J
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Sami removes 1 block at random.

@ A bag contains 4 red blocks, 8 green blocks and

7 white blocks.

: ?
What is the probability that the block Sami removes is not greent

-

A B ¢ > E
| : ul s s
20 19 19 ™
What fraction of this shape is shaded?
B C D E
1 6 i 4
9 9 3 5
@ The ratio of lions, tigers and leopards in a jungle is 4:3:8
If there are 78 tigers in the jungle, how many leopards are there?
( A B C D E
L 26 156 208 39 234

What is the volume of Cube A?

Cube A is formed from identical smaller cubes, each with a side length of 2cm.

Cube A
- 2 c > e
L Som! S4cm’ 64 cm? 27 cm? 216cm’




O consists of all numbers greater than 7 byt less than 48
f all multiples of 6

et B consists ©
How many numbers appear in both Set A and Set B?
B
A c D E W
3 . 5
6 7 J

Tamara want

s to calculate the distance from London to Paris

Which of the following would be the most appropriate unit of measurement for her to use?

A & C
D E W
= — i it Y,
What is the value of B°?
(B° — 62°)
r A B (& D E j
002 82° 85° 78° s7er] . )
It takes 7 people 21 hours to build a fence.
How long would it take 21 people to build the same fence?
e B c D E
L 14 hours 21 hours 147 hours 12 hours 7 hours J
@ 67km == =3
[ A B c D 3 )
(__9005m 845 m 837-5m 820m glom

_

( Questidn_s continue on the nexkpads )
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@ Which of these shapes has an order of

[ A

rotational symm

C

/

etry of 27

———

D

premmm—

@ Which line is perpendicular to line X?
— P
\ Z y
@)
X

a2 B C

i O P X Y Z
There are 9 warehouses in a factory.

Each warehouse holds 54 crates.

Each crate holds 19 robots.

How many robots are there in the factory?

Round your answer to the nearest 10

[~ B c D E

L 9240 1030 2500 9230 1020

@ A jar contains 12 red sweets, 13 blue sweets, 11 green sweets and 10 yellow sweets.

Which of these statements is false?

( A

There are more red sweets than yellow sweets in the jar.

There are more blue sweets than red sweets in the jar.

There are more green sweets than yellow sweets in the jar.

There are more yellow sweets than blue sweets in the jar.

m(OD|O| @

There are more blue sweets than red sweets in the jar.




thh of these numbers is closest to . 3?

B

0-31

0305

C
0-298

The mean number of cakes eaten by the People at an event 2
was 2=,

there were 20 people at the event, how many cakes wer
e

e

D
02

02002

€aten in totq|?
B
kes 20 C k C > E j
15 cd akes 40 cakes 55 cakes 60 J
cakes
What percentage of 1 year is 54 months?
B
o o C D Ew G
3% 22% 4+50% 450% 80% |

If b is an odd number, which of the following must be an even number?

A B C D E 1
bh-8 2b 3b 2b -5 b+2 J
A car travels at a speed of 100 kph for 4 hours.
It then does not move for 1 hour.
Finally, it travels 3 hours at a speed of 70 kph.
What is the car’s average speed over this whole period?
[ A B < D A 8
L 100kph 70kph 76.25 kph 21.25kph 8skph |

Andrew mixes 2 litres of squash with 4 times as much water.

How many 200 ml cups can he fill with this mixture?

C

50 cups

40 cups

20 cups
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Which of these shapes could Parv have drawn?

360°.
Parv drew a shape in which the internal angles add up to

(s A 5 = D E
L triangle rhombus pentagon hexagon octagon
The mean of 8,9, A and B is 10
What is the sum of A and B?
[ A B C D %
L 40 3 23 17 10
Which number comes next in this sequence?
18 21 25 30 36 2
ittt B c D E q
L 40 45 54 60 43

What is the area of the square?

The coordinates of two corners of a square on a centimetre grid are (=5, 7) and (3 , -1).

T

B C D E j
| saw Gt e0n? 100 cm? 6cm |
A dice was rolled 100 times.

The frequency of each score was recorded in this pie chart.

1

%703
What was the most common score?
( A B C D E
L 1 2 6 5




@) The ratio of the number of oranges to the number of bananas in box is 7:6
a box is /;

: followi
which of the following could not be the total number of oranges and bananas in the box?
e box

A

C

D

26

78

64

117

104

e )
)

How many different combinations of coins can have a total of 10 pence?

A B
3 6
2 10 i )
This graph shows the distance covered by a cyclist on  trip.
y
A
10
9
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£ 7
~
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0 Py
0 5 10 15 20 25 30 35 40 45 50
Time in minutes
For how long was the cyclist stationary during the trip?
( A B C D E )
L 0 minutes 10 minutes 15 minutes 20 minutes 25 minutes J




What is the pe




